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QUESTION 1

In which adjacency state do OSPF routers determine which router is in charge of the database synchronization
process? 

A. ExStart 

B. Exchange 

C. 2Way 

D. Init 

Correct Answer: A 

 

QUESTION 2

What are three reasons a BGP route would be hidden? (Choose three.) 

A. The AS Path contains a 0. 

B. It is suppressed by a damping policy. 

C. The Local Preference is 0. 

D. The next hop is unreachable. 

E. It is rejected by a firewall term. 

Correct Answer: ABD 

 

QUESTION 3

You have two routers unable to form an IS-IS Level 1 adjacency. 

Which two statements describe a reason for this problem? (Choose two.) 

A. The MTU is set to 1500. 

B. Interface lo0 is not included as an IS-IS interface. 

C. The area numbers are different. 

D. The interfaces are on different subnets. 

Correct Answer: CD 

 

QUESTION 4
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Exhibit What does the * indicate in the output shown in the exhibit? 

A. The switch ports have a router attached. 

B. The interface is down. 

C. The interface is active. 

D. All interfaces have elected a root bridge. 

Correct Answer: C 

The exhibit shows the output of the command show vlans brief, which displays brief information about VLANs and their
associated interfaces1. The output has four columns: Routing instance, VLAN name, Interfaces, and Tagging. The *
symbol indicates that the interface is active, meaning that it is up and forwarding traffic1. This can be verified by the
command show interfaces terse, which displays the status of the interfaces2. 

 

QUESTION 5

You must limit access to a printer with a persistent DHCP address of 2001:db8:0000:50::10/64 in VLAN v50 to users
assigned to VLAN v50 only. Which action would satisfy this requirement? 

A. Implement persistent MAC learning to ensure that 2001:db8:0000:50::10 is allocated properly. 

B. Implement a firewall filter on the IRB interface for VLAN v50, blocking traffic to/from 2001:db8:0000:50::10. 

C. Implement a firewall filter on the VLAN v50, blocking traffic to/from 2001:db8:0000:50::10. 
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D. Implement DHCP snooping on VLAN v50 to ensure that 2001:db8:0000:50::10 is allocated properly. 

Correct Answer: B 
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